Lab C"’p\é Lab 0Py

DEPARTMENT OF ELECTRICAL & ELECTRONIC ENGINEERING
BANGLADESH UNIVERSITY OF ENGINEERING & TECHNOLOGY

COURSE NO.: EEE 172
EXPT. NO. 1
NAME OF THE EXPT.: CONSTRUCTION & OPERATION OF SIMPLE ELECTRICAL
CIRCUITS
OBJECTIVE:

The experiment is to acquaint the students with some simple circuits and to make them familiar

\xjith diagram reading, drawing and wiring with the belp of different types of switches (SPST-
Single pole single throw, SPDT- single pole double throw, DPST- Double pole single throw,
DPDT- Double pole Double throw) that will be frequently encountered in different

experiments.
INSTRUCTIONS:

Read the following procedure carefully and draw the circuit diagrams accordingly in the space
allotted for each procedure and then implement it practicaliy.

Your report must contain neat
diagrams of the circuits.

APPARATUS:

1) Two lamp boards (220v, 100w)
2) Two SPST, two SPDT and one DPDT switch.

PROCEDURE:

1. Conrect an eiectric lamp so that it may be operated from a 220v ac supply using an SPST
switch.

2. Connect a lamp so that it may be operated independertly by either of two SPST switches.

)
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4. Connect two lamps so that both may be operated simultaneously from a common source by
one SPST switch. Is it possible to do it in any other way? If possible, show both the diagrams
and indicate the preferable one.

Vn{
{0 ol b
e AN
e P4 :
5. Connect a lamp so that it may be operated independently by either of two SPDT switches
from a 220v source.

6. Connect a lamp using two SPD'I and one DPDT switches to the power supply in such way
<o that the lamp may be rned ON/OFF by any of the three switches. ’ ’

v a

» ™ » -

CAUT ON: P

1. Don‘t switch on the supply until your teacher has checked the
circuit.

2. Take care of the reading of the apparatus.

_Take care of any bare circuit element in energized condition

4. Put on shoes with good insulation. '

b

Y

QUESTIONS:

1. What is an electrical circuit?
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What 1s a short circuit?
Which method in procedure 4 is preferablee Whyy
What is the drawback of the following circuit in the connection of the swirch?
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/  DEPARTMENT OF ELECTRICAL & ELECTRONIC ENGINEERING
BANGLADESH UNIVERSITY OF ENGINEERING & TECHNOLOGY
COURSE NO.: EEE 172

EXPT. NO. 2
Verification of KVL & Voltage Divider Rule
OBJECTIVE :

This experiment is intended to verify Kirchhoffs voltage law (KVL) and voltage
divider rule with the help of series circuits and derive equivalent resistance of the
series circuit both experimentally and analytically.

THEORY:

KVL states that around any closed circuit the sum of the voltage rises equals the
sum of the voltage drops.

L Veises = > Vprops

The voltage divider rule is given by
The equivalent ( total ) resistance of a series circuit is given by

Ry =2Ry =R, + R, t R,

Where X=1,2 &3 ¥ %+ While |
Maa s ux §N fQS\S‘\'Cle
e W Ha mu e gz
One DC Voltmeter (0 - 300V) e D_% D

.(?nc DC Ammeter (0 - 5A) } &vx??\*f ' Ginte, wutlimekr
I'hree Rheostats

. N - » : . = - Jye
One SPST switch™ — 4 wees ws pan m‘?f;
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oyt a vasistanee
and dran ealedere B \ix— , &6

PROCEDURE: a_*&-;,nr\od De Swp \‘1 caw
caunse. overloa ing @Yoy,

One muliimeter
DC power supply

1. Connert three rheostats R,, R, and R, in serics through a SPST switch to a DC

power supply as shown in fig. aue Y gpsl i\
' ~ . ~ ! -
2. Apply 30 V DC from DC power supply. PRV g 23!
P]f\‘f BN A ' ~.l-n‘.' v, w7 '\)1 Lo N
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3. Set the rheostats at their maximum value and take readings of V,, V,, V,, Vg

using a voltmeter, I using an ammeter and R, R,, R; using 2 multimeter. Vary

the rheostats in such a way that ammeter rfaQing does not exceed the current

rating of any of the rheostats. Take bt Jeast 5 sées6f re°a'1§i)ng"a;'1d énter it in the

table. A T A eetie vhaashal

: : 1~ O Supiiw

4. Verfy KVL (i.e. V,=V,+V,+V,) for each set of data. Find total resistance of '

the series circuit using the formula R =R, +R,+R;. Compare this with

experimentally obtained value Rg=V/1. Verify voltage divider for each set of

dara.
TABLE:
No of Vs | Vi Vs V3 R¢=R;+RytR; | Rg=Vs /1 | V+V2+V;
Obs. | Volts | Amps | Voits | Volts | Volts Ohms Ohms
REPORT :

1. Show the results in tabular form.
2. Comment on the results obtained and discrepancies (if any).

CAUTIONS:

1. Don’'t switch on the supply until the circuit has been
checked by your teacher.
2. Take care of the reading of the apparatus.

3. Take care of any bare .ircuit element in energized
condition.

QUESTION:

1. State the rules of connecting voltmeter and ammeters in the citcuit.

1f a ammeter 1s connected in parallel across an element what could be the

possible danger.

3. *“ KVl 1s a restatement of the law of the conservadon of energy”— justfy the
statement.

o
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‘, 4. Why rheostats have current ratings 1n addition to resistance raungs?
5. “KVL s applicable for open circunt too”—ventfy.
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DEPARTME

BANGLADE?}'II‘ 8\1; ELIIE{CTRICAL & ELECTRONIC ENGINEERING
‘ IVERSITY OF ENGINEERING & TECHNOLOGY
/ COURSE NO.: EEE 172

EXPT.NO. 3

VERIFICATION OF KCL & CURRENT DIVIDER RULE.
OBJECTIVE : |

This experiment is intended to verify Kirchhoff’s current law (KCL) & current

d.lvid-er rule with the help of parallel circuit and derive equivalent resistance of the
circuit both expenmentally and analytically.

THEORY:
KCL states that the sum of the currents entering any node equals the sum of the
currents leaving the node.

2 lentering = 2 lieaving

Ix = XIS

A L?U

X
The current divider rule is given by
Where, x = 1,2 & 3.
The equivalent ( total) resistance of a parallel circuit 1s given by the formula

1 1 1 |
—_——t—t+—
R, R R R

APPARATUS:

One DC Voltmeter (0 - 300V)
One DC Ammeter (0 - 5A)
Three Rheostat

Four SPST switches

One multitheter

DC power supply

PROCEDURE:

| Connect three rheostats along with their own switches in parallel across the
power ;{lppl)‘ as shown in figure.
2. Apply SOV Y from dc power supply.

——

oW ;

-
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| R
; | ll. R, 112 R, l],
|
| Re
|

. Venfy KCL (ie. I=I,+1,+1,) for each set of data.. Find total resistance of the
parallel circuit using the formula. Compare this with experimentally obtained
value R,=V/1. Verify the current divider rule for each set of data.

.2 . Set the rheostats R,, R, & R, above 20Q and measure Vs, L 1, I, I,R,R, &R,
4

i

{

{

I 5. Repeat steps 3 to 4 by changing R,, R,, R, and take five sets of readings

R S

TABLE
Observation Vs I I I I Ii+1+]5 Rp Rp=Vs /I
No. Volts | Amps | Amps | Amps | Amps Ohms Ohms
REPORT :

1. Comment on the obtained results and discrepancies (if any).
2. Show the results in tabular form.

CAUTIONS:

1. Don't switch on the supply until the circuit has been
checked by your teacher.

2. Take care of the reading of the apparatus.

3. Take care of any bare circuit element in energized
condition.

QUESTION:

1. Show analytically that for a parallel circuit
1 1 1 ]

R

+
P Rl R.’ R.\

9

“KCL 1s a restatement of the law of conservation of charge”---Justify the
statement.
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3’ “KCL is applicable for a closed surface too”---Explain,

7 r d ) R 2 ) )
iR 2 4 LY Fa :fg,“,_‘_,i{.ﬁy ! {f,r )

[ I
1
T
i
U l." bIP J 1
wd aai
Reine
-
A ]
-
]
hﬁ._‘_h‘ : \
|
i
[ F |
R
\
'-'P‘;u.uj
- \f e "f4|4_3‘3
© Y . K { e o ’!'N
» @ -
(rﬂj N Y O . \ 2
’
3" Y 2T : Y >
. f o | { \ p
- ¢ A
4 3 J
y T iarce A sk i F
»laft ‘ ks '
(. -

Scanned by CamScanner



DEPARTMENT OF ELECT
Y BANGLADESH UN IVERSIT

NAME OF THE EXPT.. VERIFIC

THEOREM.

OBJECTIVE:

RICAL & ELECTRON]
CE
Y OF ENGINE NGINEERING

ERING &
COURSE NO ERE 15 TECHNOLOGY

EXPT. NO. 4

ATION OF SUPERPOSITION

To venfy expenmenltally the Superposition theorem which is an analytical technique of
determining currents in a circuit with more than one emf source.

THEOREM:

In a circuit (network) made up of linear elements (e.g. resistors) and containing two or more
sources of emf, the current in any particular branch when all the emf sources arc acting
simultaneously may be found by considering the sources of emf to act one at a time, then
finding the current in the specified branch due to each source and then superimposing, or
adding algebraically, these component currents.

Note regarding Superposition theorem:

While the current due to a particular source of emf is being found the other emf sources arc
rendered inactive and if any branch element is in series with those sources that remains intact.

APPARATUS:

Two DC power supplies of suitable voltage and current ratings.

Three potentiometers each of 10KQ rating.
% Three DC voltmeters (0-5 V).

One multimeter.
~Trainer board
: )T Z "lJ ‘,
PROCEDURES:
1 8

2

El'_:'

e aeied €

R,

- o
. >
S; 1
R; ®2
S3
™
o — —

y . Set up the network (circuit) as in F ig. 1.

3 . Keep both sources active in the circuit by keeping the poles of SPDT s in proper position.

.

Fig. 1
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) volts from E,.

¢ such value so that none of the ammeter readings I, I, s
i ~ Y ats y . .

and E: current ratings and the rheostal current) ratings.

1

% 4
—
I

7 ] ; X . . .
/ gMeaaure Lhe current I: and revond it m the given table.
'/ @ Render E: mactve
4 ~ 9. Measure the current 1; m the branch R; and record it in the Table.
9 Rmder t. L:Ca\. “l ' \..
491 \degsurg-lhe current I»  m the branch R, and record it in the Table.
|o.\fenf_v ifla=1. -1 which would validate the superposition theorem for this particular
circuit.

| 1" Repeat steps 4 10 10 by changing R, R;, and R3 and take a few more sets of readings.
TABLE:
Values of R; . R: R: L. withboth E,and | 1" withonly E ,” with only E;
(ohms) E. active (amps) active (amps) active (amps) |
L -
REPORT:
(1) Show the 1zble
(2) Comment on the @ shtained results and discrepancies (if any).
(3) Find theoretically the current I, with reference to Fig. | applying the superposition
theorem
Considering E; = 13 volts, Ex = 20 volts and R, Rz, Rj at their values recorded in no. |
observation © _'rs T.’.b.e shown.
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QEPARTMUENT OV HLECURICAL & 11140 ARONIC FENC

ANGLADES LRSTEY OF NG
/ BANGLADESH UNIVERSI'Y OF UNGINKERING & TCHNOLOCS
COURSE NO.: BET 172 N "

EXPT. NO. 5

VERIFICATION OF THEVENIN'G THEOREM
OBJECTIVE:

To venfyv Theveun's

_ thevrein with velerence o w
expenmentaliy

plven cirewt theoretically as aell an

INTRODUCTION:

1t is often desirable m vivnit analysin to stady the elfect of chisnging a partics

Jar biranch elament
\\'h\]c i\“ \\“\\\l “\;\u\‘[“\\ ‘1‘“‘ \\n ”“\ MO C e ”,‘“ clrenil remiin o

wehinped Thevenin's theorem 1s
a technigue o s etd and ot rweduces greatly the smount ol computations which we have 105 edes each
time a change s made Vs Ehey enin's theotent the given ciremt excepting the particular branch
to be studiad 1 maluead o (the snplest equivalent cireuit pousible and then the biranct

changad 1s connevtad aciess the equivalont clreut,

i) he

The Thevenmn's thevremn statex that any twa tovminal linear bilateral network containing »ources
and passive clements van e teplaced by an equivalent cireutt consist of a voltage source Ve 1n
series a resistor Ry, whete

Vo = The open cirvuit voltage ( Vo ) at the two terminaly A & 13
Ry = The resistance looking inte the tetminals A and Vot the network with all sources remaoved

Rin A
> |
AN puss L
T A S
I Lincar | | <
R'I‘l"l.‘rﬂl v, “- R Viu \' ,//‘ !
Network l‘
@ e
e s———— B .

There are several methods (or determining Thevenin resistance Ry, An attractive
method for determining Ry iv (D) determine the open cireul voltage, ind (2)
determine the short cireut! current g as shownin the hgure, then

Ry

A
|

' R Y
R ‘_"_\ ‘lH

A
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APPARATUS :

Four Rheostats.
Ammeter ( 0-5 A).
Voltmeter (0-300 V).
DC Power Supply
Three SPST Switches.

PROCEDURE :
For Original Circuit:

= < R, & R, at
1. Arrange the onginal circuit as shown in hgure 1. Keep the rheostats Ry, R, \

[ rom dc power
maximum posinon. (or at least above 200 each) Apply 30V dc tr F
supply
2. Mecasure V,, I, for three values of R, & record the data in the table

FIG.1l: Original Circuit
FINDING Vo, & Ryy:

3. Remove the load resistance R and find the open CiI.’Cuit voltage between
terminals A & B. This voltage is Thevenin voltage i.e. Vou=VYoc-

R;

A
TL
R R%’ b R Z
s
B

i

Vs

FIG.2: Circuit for finding Voc.
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_VOC
m-—-——-

ISC '
R;

AN

T 1 3 @k }

FIG.3: Circuit for finding Isc

R

]

For Thevenin Equivalent Circuit:

5 Construct the Thevenin’s equivalent circuit as shown in figure 4 setting the power
supply at Vi, volts and the rheostat at Ry;; ohms. Now measure the load current I,
and the load voltage V; for the values of Ry determined in step 2. Compare these 1

values with previous values.

Rru

A_"IL

Ro

FIG.3: Thevenin Equivalent Circuit of Circuitl.
EXPERIMENTAL DATA:

Table1: Data for Original circuit R, = , R,= s B3 N=

Load V oltage V ] Load current 1

alent circuit

Table2: Data for Thevenin equiv
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No.of Obs [ Values of R

Ve o R, ot Vol ¥, [

 Load current ],

2 A —

recorded in table. Also find I,V,.
Show the results in tabular form.

9

~
2

QUESTION: o
1. Dehine unilateral, bilateral & equivalent circuit.

1. Find theoretically the Thevenin equivalent circuit for the values of R, R,, R, & V

s

. Comment on the results obtained and discrepancies (if any ).

2. Descnbe other methods for determining Thevenin resistance.
3. Mention the advantages of using Thevenin Theorem.
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DEPARTMENT OF ELECTRICAL & ELECTRONIC ENGINEERING

BANGLADESH UNIVERSITY OF ENGINEERING & TECHNOLOGY
COURSE NO.: EEE 172 {

EXPT.NO.:6

NAME OF THE EXPT.: VERIFICATIO
. N
THEOREM OF MAXIMUM POWER TRANSFER

OBJECTIVE:

The objective of this experiment is to verify maximum power transfer

theorem.

THEORY:

The maximum power transfer theorem states that a resistive load will
receive maximum power when its total resistive value is exactly equal to the

Thevenin’s resistance of the network as “seen” by the load.

A Rru
Linear ' "
Bilateral Re Vin Ry
Ci ) | — \ J

We know that any circuit A terminated with a load RLcan be reduced to its
Thevenin’s equivalent. Now according to this theorem the load R will
receive maximum power when

RL=RtH
nsfer is defined as the ratio o
lied by the source Pin.

f the power delivered

The efficiency of power tra
to the load Pour, to the power supp

P 14 R
L] x100=—i—x100=———£§——x100
L YRy

%or =

N T™H

The voltage regulation is defined as
Load voltage at no load — Load voltage at full ‘oad .
x 100 :% K

%VR =
Load voltage at full load "y o €L
:%’lixloo - 1‘:‘ —Mra X BL+Brw
) \4, BL
s o <o _ H X
ndition, n= 50 % & VR= 100 %. €L+ET H

At maximum power transfer co
A relatively low efficiency of 50
power levels are relatively low such as

9, can be tolerated in situations where
in electronic & communications

Scanned by CamScanner

~d



transmit the powe
losses on the pow
which would repre

rto the load with the greatest efficiency by reducing the
er lines. Thus the effort is concentrated on reducing Ry,

APPARATUS:

1. One DC voltmeter

2. One DC Ammeter

3. DC power supply

4. Rheostats ( Rtu= 22Q, R.= 44Q )
S. One SPST switch

6. Wires & Chords

EXPERIMENTAL SETUP: R

il G
Vth ° Rl_ o VL
T I —»

1. Set up the circuit as shown in figure.

2. Apply 30V dc from dc power supply. ‘ .

3. Keep the Thevenin rheostat, Ru ( CZQQ.) at maximum posi 1ona.J o
4, Vary the load rheostat (44Q ) from minimum to maximum value in step
& measure the voltages VL, & I. Take at leas.t '15 sets of read1ng4.

5. Keep the Thevenin rheostat at another position & repeat step4.

PROCEDURE:

EXPERIMENTAL DATA:

sent the resistance of the source plus the line resistance.

! —\7
DoVl [Pon=Vil |LOSS= [ %n | %VR [R=Vi/L

J I
mo. Of V'r” V L Iilﬁ_'POL‘T

Obs.

1.

i Rl Bl

REPORT:

13

. |
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; ) }S);mutrh the results in tabular form

. Plot the f 1 :

2 Ak :lég_mng curves on the graph paper
i) % VR vs R,

i) lossvs Ry

iv)  Pourvs R,

V) ILvs RL

vi) VLvs Ry

QUESTIONS:

1.

Why high voltage transmission is used in case of transmitting electric
power?

2. Where maximum power transfer is used? .
3. Why instead of transmitting maximum power, power utility transmits
power at maximum efficiency?

. Deduce the condition for maximum power transfer.

A
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BANGLADESH UNIVERS
ITY OF ENG
el INEERING
RTMENT OF ELECTRICAL & ELECTRONI?Z gggﬁlﬁ%liggg
EEE 172
EXP NO.-7

FAMIL
IARIZATION WITH ALTERNATING CURRENT (AC) WAVES
OBJECTIVE:

To stud ' :

effectiv g Sgllgse':u;‘:"dsgd‘;’?s\;e fgrms and correlate them with practically measurable
: ' anding on a sim ircuit i

developed in the experiment. g ple ac circuit Is also expected to be

INTRODUCTION:

re the current (or voltage), when
egative, is defined

here the variation

Any periodic variation of current or voltage whe
measured along any particular direction, goes positive as well as n
to be an AC quantity. Sinusoidal AC wave shapes are the ones w
(current or voltage) is a sine function of time.

v

\L)

o
'l

T

Fig1. Anac (sinusoidal) voltage waveform

For the wave form in Fig.1,

Time period = T
Frequency f = 1T
v=Vsin2nfi =V sin(2m /Tt

EFFECTIVE VALUE:

Effective (rms) values of sinusoidal waveforms are given as:

F ) l"’
V= |—=|vidt= —= (For sinusoidal wave)
\/Y I V2

0

o

2 !

I = iji‘dr =—= (For sinusoidal wave)
Iy v2

sured in ac voltmeter / ammeters and can be used in

These values are directly mea
power calculation as:

L.
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P=I'R=V*/R
PHASE DIFFERENCE:
vi
T 1,
Fig 2. Two sinusoidal waves with phase difference
Phase difference between two ac sinusoidal waveforms is the difference n elecirc
angle between two identical points of the two waves. In fig. 2, the voltage and currerd
equations are given as:
v=V_Sin(2z /T
i=1_Sin(2z /It -6)
IMPEDANCE:
Relation between the voitage across and the current through any component of ar 3¢
circuit is given by impedance. For the voltage and current waveforms in Fig. 2, e
corresponding impedance Z is given as:
Z=V_11,£6)=V_, ' A
EQUIPMENT LIST:
Oscilloscope
Function generation
Decade resistor
Capacitor bank
AC voltmeter
AC ammeter
SPST
Breadboard
CIRCUIT DIAGRAM:
| ek
f > i | ."‘
. | T e
1 10V, \ Z
\//i\/) 1 KHz g;cl 10Vpp Osc. 1002/ Om
- z Ch- ) Ch-2
| ) .
Fig i Fig 2
. : ',meh -.,;,-_‘.: i v
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PROCEDURE:

1. Connect the output of the fy

osciloscopg a shown i i r;ctgr; generator directly to channel 1 of the

the frequency a 1 - Set the amplitude of the wave at 10V and
2. Sketch the wya oz Select sinusoidal wave shape.

. ve shape ob ;
period of the p served on the

wave and calculate th
Measure the voltage wit e frequency.

h an ac voltmeter.

» o

petween the voltage and the current gives the magnitude of the
Impedance, Z.

8. Observe the wave shapes of oscilloscope channels 1
simultaneously. Find the frequency of both the waves and amplitude from
the display. Determine the phase difference between the two waves. The
phase difference is give by 360ft, where 't' is the time delay between the
two waves. Also observe which of the two waves lead. Note that the

voltage in channel 2 is the voltage across a resistance and hence this is in
phase with the current flowing in the circuit.

and 2

REPORT:

1. Compare the frequency of the wave determi

ned from the oscilloscope
with the mentioned value on the function generator in step 2 of the
procedure.

2. Calculate the rms value of the voltage observed in step 2 of the procedure
and compare with that measured in step 3.

3. How does the time period vary when the frequency of the wave is
changed in step 4?

4, Calculate the magnitude of the impedance from the readings taken in step
8

Find the magnitude and the phase angle of the impedance from the
readings taken in step 5 and 6.
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BANGLADESH UNIVERSITY OF prrern

TRONIC ENGINEERIN
VERSITY OF ENGINEER] .
LERING & LOGY
COURSE NO.: EEE 172 TECHNO
EXPT. NO:-§

VERIFICATION OF KVL AND KCL USING REACTIVE ELEMENTS

OBJECTIVE:

The objectiye of this experiment is to study RLC scries and series-parallel circuits
when energized by an AC source and to construct their phasor diagram. KVL and

KCL in phasor form will also be verified.

EQUIPMENT:

Function Generator
AC Voltmeter

AC Ammeter

Decade Resistor box
Decade Inductor box
Decade Capacitor box

120 ohm Resistor
1uF Capacitor
SPST Switches
Bread Board
CIRCUIT DIAGRAM.:
1202
A VAVAYS
+ Vg -
4 Vs
Q c oS 8 4V rms
Fig. 1
| 100ck
t 4 .Vu -
7
. v. \
4V ms
1kHz

10 mH
N +
+ VL = ‘L
= IKF v
I -
10mH
Y Y
+ Wy - 4 +
' v oy,
b > kb
1 uF— ::_lZDQ
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PR(.)CEDURE:

» VL and V¢ and the current I with the help of AC' meters,

t of Fi , ;
Fig. 2. The 1002 resistance is obtained using the decnde

TeSIStor box. Apaj _
Bain set Vs=4V mms, f=1kHz. Now the function generator in

iormected to the circuit,
M

casure the voltages Vy, VL and Vp and the currents 1, Iy and 1.
REPORT:

1. Theoretically calculate all the voltages and the currents in the circuits shown in

?g I’and Fig. 2. Comment on the relative magnitudes I, 1, and I, in the circuit of

1g. 2.

2. Assuming the circuit elements to be ideal, draw the phasor diagrams for both the
cireuits using the experimental data. The diagrams should be drawn to scale on

graph paper.

From the phasor diagrams, express the voltages and the currents as phasors and

compare those with the values calculated in step 1.

4. Show that the voltage and the current phasors obtained in step 3 satisfics KVL and
KCL.

DR e i
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Dgr'ARTMENT OF E‘LE(TRIC AL & ELECTRONIC ENGINEERING
BANGLADESH UNIVERSITY OF ENGINEERING & TECHNOLOGY
COURSE NO: EEE 1T

EXPT.No.-9

AC POWER MEASUREMENT USING WATTMETER
OBJECTIVE

T ects . : _
The objective of this CXpenment is 10 use wattmeter in measuring power in ac circuits

EQUIPMENT

Lamp board - 2
Capacitor Bank — |
AC voltmeter - |
AC ammeter - |
Wattmeter - 1
SPST switches - 3

CIRCUIT DIAGRAM

* Vv ¥ L — T i
xf —
i \
! D
Figure |
| —
1 >0 28 g e 7'y
T__—/l l:‘ *—_— _ \
ot - L 8 %_—
s 3 Y
i X i tl.)
| . - { |=
i' -— ‘z ".
¥ T e
Lamst| 2 Lame2| S |
L L, r 2
|
i S G
Figure 2
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7. Connect the wattmet
€r to measure power :
parallel branches, power consumption (W, and W,

respectively) in the two
REPORT

1. Compare/relate the wattmeter readings (W and W' or W, W, and W) for both circuits. Give your
comments.

2. Use your results to find out the values of individual circuit components and also the power factors
of each circuit.
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